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QUESTION 1

Which statement about the db2move command is TRUE?

A. The LOAD actions can be run from a client machine.

B. Object ownership cannot be changed after a successful schema copy operation.

C. Tables containing GENERATED ALWAYS identity columns can be imported or loaded.
D. Loading data into tables containing XML columns is only supported for the LOAD actions.

Correct Answer: D

QUESTION 2

You receive a large data file that contains large object data values that need to be copied into a table in the shortest
amount of time possible. Which utility should be used?

A. LOAD

B. INGEST

C. IMPORT

D. TRANSPORT

Correct Answer: C

QUESTION 3

Which statement about NOT ENFORCED unique constraints is TRUE?

A. NOT ENFORCED unique constraints can not be defined on primary key columns

B. The query optimizer will consider a NOT ENFORCED unique constraint when selecting an optimal data access plan

C. When attempting to insert data that does not conform to a NOT ENFORCED unique constraint, awarning will be
returned

D. Storage requirements for a NOT ENFORCED unique constraint are no different than the storage requirements for a
similar unique index

Correct Answer: A

QUESTION 4

Which command can be used to view the configured global registry settings for all installed DB2 copies found on a Linux
server?
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A. db2val

B. db2set
C. db2look
D. db2greg

Correct Answer: B

QUESTION 5

On Linux and Unix systems, which of the following will set the DB2_FMP_COMM_HEAPSZ registry variable to 1 GB (or
256000 pages), only for the instance db2inst1?

A. As the db2 instance owner (db2instl) execute the command:exportbB2_FMP_COMM_HEAPSZ=256000

B. Add to the following line to the userprofile (db2instl): DB2_FMP_COMM_HEAPSZ=256000

C. As the db2 instance owner (db2instl) execute the command:db2set ? DB2_FMP_COMM_HEAPSZ=256000

D. As the db2 instance owner (db2instl)execute the command:db2set ? db2instl DB2_FMP_COMM_HEAPSZ=256000

Correct Answer: C
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